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1 K WIEWNE ERBRERENE < 725729, pH 3.0 OEERIZIEZ =B (pKa =
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2 pH = pK, + logio([A "V/[HA])
3) pH = pK, + logio([HPO42 " /[H2POs™]) TEEINDHD T,
UoBZKREFEFT R U LKERE Y VBAKET ) U LKBRESERRATH
TRV, EHICHIARZAWT SEFICHRT 2 Z & TEMOREIRIE LN D, &
> THEMIR % 1.0 L AT 2 7-0121%, UV o BE/KEF MY 7 AKEK0.10 L,
U UBEAKFEF Y U LKA O0.10L, #i/k 0.80L # Vi kv,
@) pH = pK, + log1o([CH3COO ™ J/[CH3;COOH) THE 15 DT,

5.06 = 4.76 + log1o([CH3COO~)/[CH;COOH]) & 72 5,

HKE LT D L[CH;COO)/[CH3;COOH] = 1090=2.0 & 725 7=,

CH3COOH @ 2/3 % NaOH T CH3COONa {29 HIE &L <, 0.30 mol L™! @ CH3COOH
& 0.20 mol L™!' ® NaOH # & BEATIT LV,

HERR O 2R EITIRAIZE Y 0.15mol L™ £ 725 TWB DT, Mk T3 FICHRY
XA OBERIEOND, £ - THMOREERE 0.90 L R+ 2729120,
FelR /KR 0.15 L, /KEE{ET R U w7 2KIEHZ 0.15 L, #liK 0.60 L Z AV i kv,
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